Домашнее задание к 18 апреля (электив-11)
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ЧАСТЬ 2.

[image: image2.png]a) 2sin2x + 8cosx = 0;
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б)[image: image4.png]ctg? 2x - 6ctg2x + 5 =0;
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г) [image: image8.png](1 + cos x)(\/_z_sinx - 1)= 0.
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д) [image: image10.png]3sin? x + sinxcosx — 2cos? x = 0;



 на 
[image: image11.wmf][

]

p

p

4

;

2

.

е)

 [image: image12.png]Peniute ypaBaenne cos g - Zx) =Lly HaliguTe:
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a) HAMMEeHBIIHI I0JI0KUTENLHBIH KODeHb;

6) KOpHH, IPHHAJIEKAIINE OTPE3KY [— g, 32"];

B) Hau6OJIBIIHIT OTPHUIIATEILHEI KOPEHD,

T') KOPHH, IPHHALJEKAIIME WHTEPBATY [—n, g] .
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